THE EDUCATIONA

ENxcLIsHE GRAMMAR AND COMPOSITION. |
Crass II ~ Time 1 Ar. and 30 min,

1. For who, to dumb forgetfulness a prey.
This pleasing anxious deing e'er resigned.
Lept tfe warm precincis of the cheerful day,
Nor cast one longing, lingering look be)u»d.l
ta) Give the meaning in your own words.
(2)) The general and detailed analysis.
(c) The parsing of the italicized words. ‘

2. Write a descriptive paragraph, of about 20 lines, on
some incident in your life. |
3. Give a classification of adjectives and pronouns with
examples of each class. . |
4. In what ways are the plurals of nouns made?! Give |

examples.
5. What figure of speech is used in the following:
The rosy morn
A thousand fathoms deep.
As swift as lightning.
As silent as the grave.
Freedom shrieked. ;
6. Correct anything wrong in the following;
My skates are not fixed right.
I dont know as I will.
Shall you go, or will I?
Can I say a word to you? f
7. Apply rules of syntax to’ the italicized words in the |
following:
‘ I read kima story.
I expect & remain. ,
All but A had fled.
There is not a wife in the west country
But has heard of the well of St Keyne.
Oh, sacred Truth, etc.

Crass II.  ARITHMETIC AND BOOKKERPING.  Time © hrs.

The first two questions and four of the others make a full
paper. The explanation, when asked for, will be considered
of as much or greater value than the operation. The unitary

methed will be held to include both operation and explanation. |
e

1. $6475.

Six mont:hs after date, for val
to the order of Thos. Jenkins sixty-four and 1% Dollars, with
interest from date at five per cent.

ST1. JonN, 16 June, 1892.

WiLLiAM Rosgr.
Endorsement: Dec. 16, 1892, $36.75.

Find the amount due on Feb. 1st. 1893.

2. Moses Brown buys, to-day, from James Thomson 1 bbl |
of flour for $5.25, 16 bbls. of sugar at 6ic., 124 1bs. of cheese |

at 15c., and pays $4 in cash. Make the proper entry in |

|
Thomson’s Day Book and in Brown's Ledger, and write a
receipt for the cash.

3. [Eight men of equal ability
certain time; but three of them do not come; in consequence
of which the rest require four days longer to complete the
work. Find what part of the work the eight men working
together would have done in a day. Explain the operation
or work by the unitary method. '

4. Find the distance in yards from one corn

ite corner of a rectangular field the area of wh
and the width 10 rods.

5. Multiply the difference between 163 per cent. of t
and 10 per cent. of 50 0015625 by two thgug:ud. = Ok tovellee |

6. Multiply twenty-five thousandths by
_subtract from the product one-fourth of itse
by decimals.

7. Divide the sum of § 17 apq ¥1 Of &%

of §

can do a piece of work in a

er to the oppos-
ich is one acre

]

four times itself: |
If. Work entirely |

\
1 of § D theig

difference. Ezplain (do not describe) the work of division.

|
|

| Crass 1.

| cester.

{ Crass III

ue received, I promise to pay |

1
i

| lemons for 80c. Receipt the bill.

i
|
|
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GEoGRAPRY. Time, 1hr, 20 m,
i 1 ts for 40 )
(The map in question 1 coun ’
1. Draw {rom memory an outline map of New Brunswick
inserting the following: Bix important riveérs, three lakes,
fifteen cities and towns, six islands, ten bays or harbors, two

‘ in a
»s of railway with their branches, On the map or
Q:Sr:te sketch, mark your native county with its chief phy

2 d >
sical feature, towns an {tude, and explain how each

2 Define latitude and long
m;}' be ascertained on a map. Give the latitude or longitude
Ur:tl.u ,t’i;;:lmr)tgg;;:g:?t;fs\wg night, and of the change
Mlﬁ‘)‘::éxibe as fully as you can any two of the following
cities, viz . Halifax, Boston, Toronto, Winnipeg, St. Joha,

| Quebec.

5. Give the positions as accurately as you can, of the

| namtes of places connected with the following

Breeds of Horses — Percheron, Shire, Suffolk, Arabian,

I (Clydesdale.

Breeds of Cattle— Ayrshire, Devon, Holstein, Angus, Dur-

{ ham, Galloway, Hereford.

Breeds of Sheep—Cotswold, Shropshire, Southdown, Lei-
Breeds of Swine—Chester, Berkshire. )
Breeds of Fowl—Leghorn, Brahma, Plymouth Roc
ExaLisH GRAMMAR AND CoMPOsSITION
Time, | hr. 3) min,

On Linden, when the sun was low,
Al bloodless lay the wntrodden snow ;
And dark a2 winter was the flow
Of Iser, rolling rapidly.

(@) Give the picture presefed by these lines,

(6) The general and detailed analysis.

(¢) The parsiog of the italicized words,

Write in the form of a letter, a description of (e) some
striking natural scene () some interesting incident in your
own life, or (¢) some book you have lately read.

3. Write a paragraph on some item of interest which hs
recently occurred in the vicinity of your home.

4. \{’rile all the inflections of the following words, viz:
Who, near, rise, tiger.

5. Correct what you think wron
I never done it.
They ain't far wrong.
Try and come to-morrow,
You and me are the same,
Is that her?

1,

9

g in the following:

Crass 111 ARITAMETIC.

[Six questions make a full paper.]
(a) Express in Roman numerals: 99, 489, 1893, 144

(8) Express in Arabic numerals-the following whole
numbers: (1) two million twentythousand and two, (2) one
million and ten, (3) twenty thousand and one.

(¢) Express in Arabic numerals the following: decimals
(1) two million twenty thousand and two tenths of billionths,
(2) one thousand and twenty millionths. (8) one thousand and

thent):)l telt‘xths of millionths.

! ake out a bill for the following goods which John

Brown bought to-day from William ergs.8 16 Ibs. sugar at
r 1b.; 2 bbls. flour at $4.75; 4ibs. tea at 42c. . 1 dow.

Ticents
3. Divide 10 per cent of 8.125 by 1
Ezplain (show why as well as how) l.hey
determined the place of the point in th
4. Add together six decimals, eacl
the one which preceeded it, whose
5. Find the value of the differe
and § of a square rod, at $1.50 per square yard.
6. A man receives §18 for 6 days’ work of 8 hours each.

What should he receive for 5 daye
Explainthe operation, ays’ work of 9 hours each?

7. From g of 24 subtract the product of 1§ and divide
the remainder by 12.

Time, 2 Are,

1.

5% per cent. of 695,
method by which you
e quotient

) greater in value than
sum shall be «!unl to 34.
nce between 8-5 of an acre




